
10 USED FOR 
PALGATE/
PALFINGER



362

CY
LI

ND
ER

S 
– 

VÉ
RI

NS
/C

YL
IN

DR
ES

 –
 Z

YL
IN

DE
R

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

LIFT CYLINDERS
VÉRINS DE LEVAGE  HUBZYLINDER

TILT CYLINDERS
VÉRIN D’INCLINAISON  SCHLIESSZYLINDER

REF A B C D E F Info

111TP3794 60 mm 80 mm 30 mm 30 mm 480 mm PBS1010

REF A B C D E F Info

111TP3796 45 mm 70 mm 82 mm 30 mm M36 – Ø 45 mm 500 mm

REF A B C D E F Info

111TP3795 50 mm 55 mm 65 mm 30 mm 30 mm 480 mm PBS 500, 750, 1000, 1500

111TP5146 50 mm 55 mm 65 mm 30 mm 30 mm 620 mm 1000/1500/2000 kg

DC

F

AB E

D EC

F

AB

DC

F

AB E

WWW.CROVORG.PL



363

CY
LI

ND
ER

 P
AR

TS
 –

 P
IÈ

CE
S 

DE
 C

YL
IN

DR
E 

– 
ZY

LI
ND

ER
-E

RS
AT

ZT
EI

LE

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

ROD ENDS
ROTULES  GELENKKÖPFE

REF A B C D Info

111TP3799 125 mm M36 30 mm 155 mm

111TP3404 190 mm M36 30 mm 219 mm PBS1010

111TP3800 305 mm M36 30 mm 336 mm

A

C

B

D

SEAL KITS
KITS DE JOINTS  DICHTUNGSSÄTZE

REF Info

111TP3797 Ø 45/70 mm

REF Info

111TP3798 Ø 50/60 mm

PROTECTION COVERS
HOUSSES DE PROTECTION  SCHUTZROHRE

REF Ø A/B C #1

111TP3801 45/85 mm 320 mm 111TP4916

BA

C

WWW.CROVORG.PL



364

SE
AL

S 
& 

RI
NG

S 
– 

JO
IN

TS
 &

 R
ON

DE
LL

ES
 –

 D
IC

HT
UN

GE
N 

& 
RI

NG
E

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

ORINGS
JOINTS TORIQUES  ORINGE

REF Info

111TP3802 Ø 12,5 x 1,5 mm

111TP3803 Ø 14 x 1,5 mm

111TP3804 Ø 14 x 1,7 mm

111TP3805 Ø 64 x 3 mm

WWW.CROVORG.PL



365

PO
W

ER
 P

AC
KS

 &
 P

AR
TS

 –
 G

RO
UP

E 
HY

DR
AU

LI
QU

E 
& 

AC
CE

SS
OI

RE
S 

– 
AG

GR
EG

AT
E 

& 
ER

SA
TZ

TE
IL

E

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

COVERS
COUVERCLES  ABDECKUNGEN

TANKS & OIL RESERVOIRS
RÉSERVOIRS D’HUILE  TANKS & ÖLBEHÄLTER

REF Info

111TP3806 419 x 345 x 140 mm

REF Info

111TP3807 Ø 110 mm – 6,8 liter

WWW.CROVORG.PL



366

M
OT

OR
S,

 P
UM

PS
 &

 P
AR

TS
 –

 M
OT

EU
RS

, P
OM

PE
S 

& 
AC

CE
SS

OI
RE

S 
– 

M
OT

OR
EN

, P
UM

PE
N 

& 
ER

SA
TZ

TE
IL

E
USED FOR PALGATE/PALFINGER

For all our latest catalogue updates and company info: www.tvh.com

ELECTRIC MOTORS
MOTEURS ÉLECTRIQUES  ELEKTROMOTOREN

REF Volt kW Rotation

111TP3808 12 V 1,7 kW CW >>

111TP3809 24 V 2,2 kW CW >>

REF Volt kW Rotation

111TP3810 24 V 3 kW

WWW.CROVORG.PL



367

HO
SE

S 
& 

FI
TT

IN
GS

 –
 T

UY
AU

X 
& 

RA
CC

OR
DS

 –
 S

CH
LÄ

UC
HE

 &
 K

UP
PL

UN
GE

N

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

HOSES
TUYAUX  SCHLÄUCHE

REF Hose Ø Hose Ø Length Fitting 1 Fitting 2 Info

111TP3811 1/4” 6,4 mm 630 mm M16 x 1,5 mm M16 x 1,5 mm -40–100 °C

L

WWW.CROVORG.PL



368

CO
IL

S 
& 

VA
LV

ES
 –

 B
OB

IN
ES

 &
 S

OU
PA

PE
S 

– 
SP

UL
EN

 &
 V

EN
TI

LE
USED FOR PALGATE/PALFINGER

For all our latest catalogue updates and company info: www.tvh.com

VALVE BLOCKS
BOÎTIERS À SOUPAPES  STEUERBLÖCKE

VALVES & SWITCHES
SOUPAPES & INTERRUPTEURS  VENTILE & SCHALTER

REF Info

111TP3812 12 V

111TP3813 24 V

REF Info

111TP3814 Cap: REF 111TP5017

WWW.CROVORG.PL



369

PI
NS

, B
US

HI
NG

S 
& 

RO
LL

ER
SP

IN
S,

 B
US

HI
NG

S 
& 

RO
LL

ER
S 

– 
AX

ES
, B

AG
UE

S 
& 

GA
LE

TS
 –

 A
CH

SE
N,

 B
UC

HS
EN

 &
 R

OL
LE

N

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

PINS
AXES  ACHSEN

PLATFORM ROLLERS
GALETS DE TRANSPALETTE  PLATTFORMROLLEN

BUSHINGS
BAGUES  BUCHSEN

REF A B Info

111TP3815 30 mm 66 mm M8 x 1 mm

111TP3816 30 mm 95 mm M8 x 1 mm

111TP3817 30 mm 128 mm M8 x 1 mm

111TP3818 30 mm 153 mm M8 x 1 mm

111TP3819 40 mm 65 mm M8 x 1 mm

REF A B C

111TP3820 25 mm 115 mm 60 mm

REF A B C Info

111TP3821 25 mm 28 mm 15 mm DX

111TP3822 30 mm 34 mm 15 mm DX

111TP3823 30 mm 34 mm 20 mm DX

111TP3824 30 mm 34 mm 30 mm DX

111TP3825 30 mm 34 mm 40 mm DX

111TP3826 35 mm 39 mm 20 mm DX

111TP3827 40 mm 44 mm 30 mm DX

A

B

C

A B

C

A B

WWW.CROVORG.PL



370

M
EC

HA
NI

CA
L 

PA
RT

S 
– 

PI
ÈC

ES
 M

ÉC
AN

IQ
UE

S 
– 

M
EC

HA
NI

SC
HE

 E
RS

TA
TZ

TE
IL

E
USED FOR PALGATE/PALFINGER

For all our latest catalogue updates and company info: www.tvh.com

SCREWS, NUTS & RINGS
VIS, ÉCROUS & RONDELLES  SCHRAUBEN, MUTTERN & RINGE

REF Info

111TP1345 M8 x 12 mm

111TP1264 M8 x 16 mm

111TP1265 M10 x 18 mm

REF Info

111TP1270 M8 x 75 mm

111TP1271 M10 x 75 mm

111TP1344 M14 x 150 mm

111TP1272 M14 x 180 mm

111TP1273 M14 x 230 mm

111TP1274 M16 x 75 mm

111TP1275 M16 x 150 mm

111TP1276 M16 x 155 mm

REF Info

111TP1266 M12 x 50 mm

111TP1267 M16 x 30 mm

111TP1268 M16 x 40 mm

111TP1269 M16 x 80 mm

REF Info

111TP1277 M6 x 80 mm

111TP1278 M8 x 30 mm

111TP1279 M8 x 60 mm

111TP1280 M16 x 45 mm

111TP1281 M20 x 50 mm

REF Info

111TP1282 M8 x 12 mm

111TP1283 M10 x 20 mm

REF Info

111TP1284 M6 x 12 mm

111TP1285 M6 x 16 mm

111TP1286 M12 x 30 mm

WWW.CROVORG.PL



371

M
EC

HA
NI

CA
L 

PA
RT

S 
– 

PI
ÈC

ES
 M

ÉC
AN

IQ
UE

S 
– 

M
EC

HA
NI

SC
HE

 E
RS

TA
TZ

TE
IL

E

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

SCREWS, NUTS & RINGS
VIS, ÉCROUS & RONDELLES  SCHRAUBEN, MUTTERN & RINGE

REF Info

111TP1287 M8 x 20 mm

111TP1288 M8 x 25 mm

111TP1289 M8 x 30 mm

111TP1290 M12 x 25 mm

111TP1291 M12 x 45 mm

REF Info

111TP1292 M3

111TP1293 M5

111TP1294 M6

111TP1295 M8

111TP1296 M10

111TP1297 M12

111TP1298 M14

111TP1299 M16

111TP1300 M20

REF Info

111TP1306 M6 x 45 mm

111TP1342 M8 x 80 mm

111TP1307 M8 x 90 mm

111TP1308 M10 x 80 mm

REF Info

111TP1309 Ø 25 mm

111TP1310 Ø 28 mm

111TP1311 Ø 30 mm

111TP1312 Ø 35 mm

111TP1314 Ø 39 mm

111TP1313 Ø 40 mm

REF Info

111TP1301 Ø 6 mm

111TP1302 Ø 8 mm

111TP1303 Ø 24 mm

REF Info

111TP1315 M6

111TP1316 M8

111TP1343 M16

WWW.CROVORG.PL



372

M
EC

HA
NI

CA
L 

PA
RT

S 
– 

PI
ÈC

ES
 M

ÉC
AN

IQ
UE

S 
– 

M
EC

HA
NI

SC
HE

 E
RS

TA
TZ

TE
IL

E
USED FOR PALGATE/PALFINGER

For all our latest catalogue updates and company info: www.tvh.com

SCREWS, NUTS & RINGS
VIS, ÉCROUS & RONDELLES  SCHRAUBEN, MUTTERN & RINGE

REF Info

111TP1304 Ø 6 x 16 mm

111TP1305 Ø 8 x 60 mm

PLATFORM PARTS
PIÈCES DE PLATEFORME  PLATTFORMERSATZTEILE

REF Info

111TP3691 § 53b Abs. 5 StVZO
TÜV/CE with certificate – 250 x 400 mm

REF Info

111TP1320 § 53b Abs. 5 StVZO
TÜV/CE without certificate – 250 x 400 mm

WWW.CROVORG.PL



373

SW
IT

CH
ES

 &
 C

ON
TR

OL
LE

RS
 –

 IN
TE

RR
UP

TE
UR

S 
& 

CO
M

M
AN

DE
S 

– 
SC

HA
LT

ER
 &

 B
ED

IE
NU

NG
EN

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

JOYSTICKS
LEVIERS DE COMMANDE  JOYSTICKS

REF Info

111TP3828 6 pole – L: 430 mm

REF Info

111TP3831 Ø 40 mm

REF Info

111TP3833 Ø 40 mm

REF Info

111TP3832 Ø 40 mm

FOOT CONTROLLERS & PARTS
COMMANDES AU PIED & ACCESSOIRES  FUSSSCHALTER & ERSATZTEILE

REF Info

111TP3829 Ø 30 mm

REF Info

111TP3830 Ø 30 mm

WWW.CROVORG.PL



374

SW
IT

CH
ES

 &
 C

ON
TR

OL
LE

RS
 –

 IN
TE

RR
UP

TE
UR

S 
& 

CO
M

M
AN

DE
S 

– 
SC

HA
LT

ER
 &

 B
ED

IE
NU

NG
EN

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

CONTACT ELEMENTS
BLOCS DE CONTACT  KONTAKTELEMENTE

MICROSWITCHES WITH CABLE
MICRORUPTEURS AVEC CÂBLE  MIKROSCHALTER MIT KABEL

REF Info

111TP3834 1 x NO

REF Info

111TP3838 250 V – 5 A – IP66 – 500 mm

SENSORS & SWITCHES
CAPTEURS & INTERRUPTEURS  SENSOREN & SCHALTER

REF Info

111TP3835 PBS1010

REF Info

111TP1978 Ø 25 x 100 mm – 12–24 V

REF Info

111TP3837 PBS 500-2000

REF Info

111TP3836 Ø 18 x 100 mm – 12–24 V

WWW.CROVORG.PL



375

CA
BL

ES
 &

 C
ON

NE
CT

OR
S 

– 
CÂ

BL
ES

 &
 C

ON
NE

CT
EU

RS
 –

 K
AB

EL
 &

 S
TE

CK
ER

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

CONNECTORS & PARTS
CONNECTEURS & ACCESSOIRES  STECKER & ERSATZTEILE

REF Info

111TP3839 6 pole

REF Info

111TP3840

WWW.CROVORG.PL



376

EL
EC

TR
IC

AL
 P

AR
TS

 –
 P

IÈ
CE

S 
ÉL

EC
TR

IQ
UE

S 
– 

EL
EK

TR
IS

CH
E 

ER
SA

TZ
TE

IL
E

USED FOR PALGATE/PALFINGER
For all our latest catalogue updates and company info: www.tvh.com

TOGGLE SWITCHES
INTERRUPTEURS À LEVIER  KIPPSCHALTER

VARIOUS ELECTRICAL PARTS
DIVERSES PIÈCES ÉLECTRIQUES  WEITERE ELEKTRISCHE ERSATZTEILE

REF Info

111TP3844 PBS1010

REF Info

111TP3845 PG13.5

FLASHLIGHTS & PARTS
LAMPES TORCHES & ACCESSOIRES  BLINKLEUCHTEN & ERSATZTEILE

REF Info

111TP3841 20° – IP68

REF Info

111TP3843 12–24 V – LED – type 2007

REF Info

111TP3842 Used for REF 111TP3841

WWW.CROVORG.PL


